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01. K@FITIS T (K2 — 3)x2 + 3Kx + (3K + 1) —Dﬂmﬂaﬁqﬁﬂﬂﬁgﬁﬁ?‘@ﬁﬁﬁ"’ WG3of HATACIA

TR 3 Wefg ==y
quﬁmummi,ﬁm1=;‘;ﬁ;_.,1{2—3_3k+1=;~1{2 3K—4=0=>K=4,-1

K = —1 7T N A2 —2%2 — 3x — 2 = 0= 2% + 3x+ 2 = 0 G FPBXF D = 32 — 4.2.2 = —7 T2 ANGF
ISR TR WO WAL |

UIEE, K = 4 e (T 39 13x%* + 12x + 13 = 0 97 o5 D—122—41313——532w=1:=ﬁﬁ$5iw |
qﬁwwﬁhﬁﬁm

02. IM —; <x< EE{'. LT (8 — 3}:)"% -7 feTse x3-a7 725t Ay =711

AAYE: (8 — 3x)™ 3'—8 3[1— ]--%-=...[1_E-l

R

2 3’

@y =] [( ) 3)( ") (=) ] L (Ans.)

03. IMx; :x, = (a+ib) : (c+id) WSWE ANMI F9 @, (c2 + d2)x2 — 2(ac + bd)x;x, + (a2 + b?)xZ = 0

. X3 __ atib : _ v
AAYIA: - ord = + idx; = ax, + ibx, | .
= (cx; —axy)? = (bxy — dx,;)%i%=> ¢2x? — 2ac x; X, + a?x% = —(b?x2 — 2bd x,x, + d?x%)

= (c? + d?*)x% — 2(ac + bd)x;x, + (a2 — b?)x2 = 0 (Proved)
*04, 7+77+ 777 + +- - YDA 2T n-HeRATE Ama T8 a1

TAL: S = 2[9+99 + 999 + -] = 2 [(10 = 1) + (10% = 1) + (10° — 1) -+ (10" — 1)] [n LT *A]

7 g 10"-1 ] _7[10 n o1y
—;[10+ 102 + ---+ 10 — n] _;[1[}. = n] =21% (10" —-1) n] (Ans.)

05. 2+ 8x + 2y = 0 7GR MG, @ frpicwra A= e w1
W:x2+ax+1ﬁ=—zy+1ﬁ=>(x+4)2=4(—§)(y—-3).
X? = —4aY- G ARG IAX =x+4,Y=Y—8 a=; - MRTA(-4,8),

folcF @A, Y = —a=>y—8 =7 =2y —17 = 0 (Ans.)
06.  5x2 + 4y? = 1 BoRrea FremrataTd TR @ CFIPTR & 67

2 Z
STA: 5x2 + dy? = 1 TAFIIE = 55 + 17 = 1 TG AL Tl A, A1

2 __1 .2 1 1 _1
d™- == — =—"‘-':b-—
5,.b iR >
& 11 :
_ |45 — 2
B RPO! e = =7
”

A, Y =1 >y = & +¥ =2y + V5 =0(Ans)

PP (0, % be) = (0, i-%) (Ans.)

| £z




07.

08.

09.

10.

11.

12,

13.

AB—31+21—kmt""c’ 5[—]+2kmABﬁACWHﬁﬁ@WWWﬁGmWﬁ‘ﬁWI
I J ok L
FAY: ABXAC = 3 2 —=1|=31-11j—-13k
5 -1 2
. AB ¢ AC ¥ HiRiZS % v wits Aiwsficem orres

= |ABxAC| = /32 + (11)? + (—13)? = V299 (Ans.)
sin 20 = cos 30 FATAIA Ay W [efa 21

FAMY: cos 30 = sin 26 (+) i, sin® = .31 = sin® = .31 = sin¢ (4f7)
=4¢c0s*0 — 3 cosB — 2 sinB cosb =0 L 0=nn +(-1)"
=> cos0 (4 cos?0 — 3 — 25inf) = 0 (-) AT, sind = —0.81 = sinf.
= cosO (4 cos®*B+2sinf—-1)=0 L O=nr+ (—1)"B
¥ cosf =0 m,9=(2n+1)2 @At n=0,+1,+2, -
SRR, 45in%6 + 25in@ —1 = 0 .. sinf =222
Another Process, sin20 = cos30 '~ ' oz ftH, 30 = 2nn — E— 29)
=c0s30 =cos(-—20)=>30=2nn +(-— 26 . 0 = =i
(z ) ( ) S 0=2nm—2 (Ans.)
+ 'z A, 39=2nn+§—29 .'.El=-§(2n:r: +§)(An5.) .
cot? A-3cotA
NS &, rymvcyurab cot 3A
— __cotAcot2A-1
AAYT: R.H.S = cot 3A = cot(2A + a) = T
M(cgtz;:';i)—l cot? A—cotA—2 cotA cot3 A—3cot A
= 'I:I:IEA . :ﬂti A=1 - Tﬂtzz-gj-.mbtzﬁ = 3 ﬂﬂ'tz A=-1 = L. H- S. (Prqud)
2cotA 2 CatA '

2
ﬂ“iﬁﬁﬂf”lﬁﬂ xzd lﬂ""+(::~: ——)y 0
AN Vx.y = sinx ... ... (1); By differentiating w.r. to x we get, Vx. %x:i + Eﬂ—i = COSX

dy ., 1 dy 1\,-3/2 1 d&v _ _
Again, VX .3 "'zr dx+ ( z)" i

d?y 1 d}'_ .
= K‘E'I'T T yvx [from (i)]

—x __HLE_E: —yx3 [x Vx &€ @ ] = x2 —+x—+(x —-)y 0 (Proved)

dx? dx dx?
M+yﬁr=om”—?c¢x4ﬂammw7ﬂu

X VItx | x2_ 14x — 2 = A
T - = b H:‘"‘ +x%y = y? + xy? =x* —y* = xy(y — X)
= (x — y){(x+y)+xy]-ﬂ=>x+y+xy—ﬂ=>y— —i
. E_ _(1+x)1-x.1
dx 1+02 (1+1.r)z (Ans.)
mﬁﬁﬂnjlxm 1 1/2

X
2 -ﬂY _ R _ dy

WJ—EJ:,E— Let2x=y .~.x=3 .dx== y |2 |1

= [sec”y]? = [sec™?2 —sec™'1] = E— 0 =§ (Ans.)

e AT 3933 [ e¥ secx (1 + tan x)dx
JAYI: [ e¥secx (1 + tanx)dx = secx [ e*dx — [ {d% (secx) [ e“dx} dx + [ e*secx tan xdx

= e*secx — [ secx tanx. e*dx + [ e*secx tan xdx + ¢, = e*secx + c (Ans.)
Or, [ e*(secx + secx tanx)dx = e* secx + ¢; [[ e*{f(x)}f' (x)} dx = e*f(x) + c]




14,

*13.

16.

17.

18.

19.

20.

e et Ls
e ke R
| T g 2
Ay A
Mk oy W
RanT o |'I.
AT &
. ¥

() L T ST —— ‘ﬂﬁﬁﬂﬂqwmw Pcé:ﬁmr'r'twﬁrﬁﬁﬁ a3 e
CIFTeT= B 530 @ ot ¢ Rmqre ifiee <t o= B T 6 GiiiteTs et efSferar R @7 im W-a3 e &=
9

T |JC
YR PC = /(202 — 12 = /31 B 41e
- wW_R_T /
o T = 0~ g
W _R_T _ __2W
ﬁﬁ_r_zr:R_d_isz_E(AnsJ w

9T T <ife Bom ey epiifte ual e uF @its W eSitae a3 98 e8| 9 21T 473 (B B 376 e
2s LT 16 f T BoTS AR | W W eTmis T2 HORZE AT, ©F qieaiva oo fda 34
TN ARG W ST 39 oitg, CTRg W = T; IE0Ed 9o 4 W, 0
I, JETCF CF, 16 == x fx 22 . f =8, T4 AT

T—W, =%xf:> W=Ww, (1 +§xf) =W, (1 +%) 5 Wy =W (Ans.) W
OO ST 9T AT O G2 AT 9T @G AR o (et Toofy 307 1 ©iRfa 42 AP s P @ Q $ua §io
IE F= 9R OIHf6T Tue e Riss e Qe FoRgm wR)| &g o sifows 87 @9, P seas s [emda

AR @ @ ooy I, of W o1
.
TS +2Mp = 0= P.rsin6 — Q.rsin(o.— 6) = 0 [D 7 ieoies @ A

=>1(P sin 8 — Q sin o cos® + Q cos a sinB) = 0
= (P + Qcosa) sin® = Q sinc. cosO

Qsina -1 Qsina
o = - p 1
tan6 PtQcoss O =tan P+ coma (Ans.)

P : [
GG AT 6 5 311 6 5 5 =11 307 TR 1 IR 20 oI 707 0B 37 Gl 0T < G S R AR 97
T AR <0 AT RETR S P(W) = 7; FaStar o1l 3111 Reata @1t P(W,) = =

6

. T 0 AT REA FRA P(W; N W) = = x - == (Ans.)

TR TRRICE (RHITS AT AL Fae 92 (285.750) 1,

ANHIA: Hexadecimal @ 10 - A, 11-B, 12-C, 13-D, 14—E, 15—F.
16]285 0.75 x 16 = 12(C)

16|17-13-D
16111 . (0.75) 19 = (C)q6

L : " (285.750)40 = (11D.C),¢ (Ans.)

. {285)10 = (11D)4,
e

60km/h @t €IS G0 *1fEq BIRSR IR *1ifeq s 50m TG WA O JETF (TITS »i77 | ol
ammwmaﬁlmwmﬁ@mmmwwmmﬁwm?
AYI: S &I, v2 = u? — 2as = 0 = u? — 2as s=50—1=49m

_u? _ (16.67)%2 _ “1 _ 60x103
=a=_-=""—+-=2.83ms""(Ans.) u = 60km/h = —eog” = 16.67ms™1

7metre Of TS zkgmﬂw%ﬁaﬁmmﬂﬁﬁ%wmwm Ui
TR v SAFCE Mo @ @i sifeifs w6 &7 [g = 9.8 ms~2 7
ST B = It Tgrs sifofes K E = mgh = 2x9.8x7 = 137.2 joules (Ans,)

= 1
G & [ = Smr? @ A = 210? = 2x2mr2e? =1my?

2
1

Again, mV? +ZmV? = 137.2 = V = 9,89 ms~"!
-, (i sifeif&E = ;;-sz = —;—:-:2}':(9.89)2 = 39.2 Joules (Ans.)

4D T A CTLFTH FIBRA 0747 0.10m 0T 97 R Gt 32 eieem 2 e <o 4
. _ _2r 2 - ‘
MY ERF @IV = oro = T E:- = 0.105 rad sec™® = 0.105x0,1 = 0.0105ms -1
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*23.

*24.

%
!...l'l

*26.

217.

28.

29.

30.

1m =7 Q3 1mnxmﬂﬁw aF 2eE 80N ¥F UFo ﬂmﬂwml Tf%f GUHEE 1mm a3 QR T3

SIS 1 2, IR I SR JIZE ! YR 52 [Srd 2R 9% = 13x101°N/m?]

FANY: Y = = = L B0x1 = 7.83x10™*m = 0.783mm
Y= arel =1 Y mx(0.5x10~3)2x13x1010 7
». SINE O I I A

30ms=! HErS I G 1240 Hz F=ITET GO A @ CoHITa fiess Svieg CHHF T @ T g oo
SRS 0 SRR G Fiee SR | Gr T FRS ofSTRrs *Twe $I1% o 7 TI? [IASH E ¢ e
*THA (@ 340 ms™?]

TR SRt i, o= (S5

= 1480 Hz (Ans.)
TRPCT G5 S ST I8 S SIAR A1y SAIGH T 7

[ At Wi i 2T 1000 watt/m? PETFER $39F 0 = 5.7x107° Wm™“K™]

ST SR I, E = oT* or, T* == = —— T = V17x10% = 363.71K (Ans.)

9% GEINE AT Sleial qfs Tooe ATifIBIas ARIET Gt 45°C “heT it | T @R ATHRTI 7% 77 @3
IR I 3°C 93] 107°C (S ST A, SIRCT G (CZF SFS S FICATIZG CFCT (39 T4

. Tg-To _ F-32 __ 45-3 _ F-32 _ 42 . o
T e = o B =y = F =5 x108 + 32 = 104.69°F (Ans.)

100°C Somtare 1.0 @ «fAre 20g SEa FoorE Iawda fTHIte “if e STl 40°C @ (T SR ? [[9%F e

A&7 3.36x10°]kg™1; #iifa SCfFs ©f 4200 Jkg k]
AHE: ¥F, n 2T 9F TS 9, .~ S ©I9f Q; = 1x4200x(100 — 40) = 2.52x10°]
JATD RS BI7 Q, = nx0.02x3.36x10° + nx0.02x4200x(40 — 0) = 10080n,

- 52% B9 = S B = Q, = Q, = 10080n = 2.52x10° .. n = 25 (Ans.)

300 T G0 TS THW ST 10mH. FSATS 3A Rge 2[R A GFFF FIH I© TA? [y &R 10ms
TN +3A O —2A 7o T30 {8 [P vioe 39 F© A?

FANTY: SwE! &, Nep = LI E=—L%= —10x1073x ﬁl“SV (Ans.)

0 = % = 10x1073x3 = 10~*Wb (Ans.)

300

G5 TIGEBM Srew 29w ¢ Be I @Y TUFW 100 @R 120 OF TOIF IS OFf6 S&H! Y AT ST
T4 Ao vod ST UG AT @Y AT STSIET T 208, AN 70 O i’ fr=w sy e | we

@i4fod I 97
STFSA: S e, ¢ = 5 3= 106, D= 1288 o=t
g S=1D||2[l=1[}£1
R —E}:S = —xlU = 8.33Q2 (Ans.)

v+vn)f (34n+3n) %1240 VS = —=30ms 1, V, = 30ms™1,V = 340 ms™!
V-Ve/  \340-30

fens 4t Yy IAUFC SpF, 10pF 93 1pF, aTAd 2T @ @@mmﬁwaﬂ@mﬁ@mww
AISF T T G 4G A 91
Suk
HATY: .
5x1 5 — 10pF
AT @ QO YA T TG Cy3 T Cy3 = = WF A 1 —B
-.. CR[B Gy 4190, Cy59 = (> + 10) uF = 10.83uF (Ans.) TIF

T AR A 2.3x10%m/sec. I[E 2AfowaE FAT 91 0T NGH QT IRF T (A0S T AR A0
@ TS FA?
T = 2 = 340° _ 1,304 (Ans.) Sind, = ]L L - 0, =50.07° (Ans.)

2.3x108 1.304
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34,

35.

36.

37.

38.

':-..'- Rty i e '
1. GRTIR  F R 3zem ﬂtﬁﬂ@ﬁrwa@ﬁwwm ﬂﬁ ai‘imia? +3.125D et RRE @
VRA T, OF 6 cxwwmrr*m?uﬁﬁm AT O3 ST O FAGI (T IR FATS TA?

ANTYI: S ifs — _1_1 b P*—3125D
S 'v+5_? E_r v.r'_zz (—32 “u = 16cm e 1
-‘-WﬁW%ﬂ,WWWW\?fW%+%=% ”0323.115 -

1 = = 0.32m = 34cm
= T (3:) = % = —32c¢m .. P = -3.125D (Ans.)

7 TS TR AT OIS A X (@ RO SIS W AN S Sewd A 60° (I AT |
G SIS ST @ AT 9T &S M AT o 2ITed SIE Slge! Spintes W@ Foed I ?

T 11-—;}: I, = I, cos? B = 2 x(cos60°) = 2

' ’— 5 S RIS e Staet SRS SHTE - ol
amw%ﬁmﬂﬁmaﬁ—aﬁsﬁw%w 12mmwmﬁﬁmﬁﬁrﬁm9mmww|m
@R fdT P oa) wo Bfesrs & g wid 919 FE7?

T SR @, 2 - =2 =2 2= =

S, Vv=—36 mm (WWWWWW’T‘TWW')

..Hﬁﬁﬁﬁ'@=(f)=?=4(ﬁms.)

MKS unit @ 936 YN Saera FNFad y = 0.5sin (zoﬂnt—sz) Ry <9, (i) F0F, (i) ©T% A9 G (i)
CEERCO N

T e w9, () 0%, (i) S9% 04T 99 (iif) W @

v 130

y = 0.5sin (200nt - =) = 0.5 sin {22 (130t - x)} (i) F™I1F, n = = 2= = 100HZ
n 1) Oq% Eﬁﬂi, = 1.3
= (0.5sin {f—; (130t - x)} (u) A o
10 (iii) O A5, v = 130 ms~*(Ans.)

aﬁy_asm—(vt x)ﬂﬁw%wmmmi 1.— —13m V=130ms™!
TSTE THIY 4 1 @7 G Y T97
ST S &I, T = 22 = —— = 5,77 day (Ans.)

0.693
&= wgw e T ©7 1073%g, !Tﬁ‘?mrﬁ aF0 ﬁﬂﬁm A= 27, O B1 2 1.25x103%g F1o7 @ 7
=z 2
B b B Jmi EE Tl (mu) :'5_ N (1 ztiiziﬂﬂ) = 036
1—;2' '

v = cxv0.36 = 0.6x3x10°% = 1.8x10°ms™* (Ans.)

A cFTE ey R =S|

(a) &I 5191 @ ST 1kg mol 571 22.4m3 W& |

(b) PR GRER I T 7T GHT-9 G2 FLAIS ST G AT |
(c) Rferar <31 1= Xe & W& [AREFT SR 2IfK0S noble gas 401 27
(d) SET feaifére 20 SfATe- ReAT 24w &y [fGae Srzad

(e) *NIETSIIZf&R IR AR cathodic protection Wi T |

STAYI: (2) ST (b) HSF (c) &7 (d) Frdt (e) 31y

QRTGITS M SHIRE 2 T it S A @ e (R =01 @3 @6 g9 97 w7 0.041 min~?. H,0,
G 1@l 0,50M (TS F0H 0.10M 0O F© AT 19197

T t—-ln-—x—uﬂil—=39255min(ﬂns)|a—x-—01M k = 0.041 min™?




39.  Syeifssiet 2.0M HCl @32 0.5 M Ht:lﬁﬁr@wwﬂm‘rﬁéfﬂm
STAYE: VM, + VoM, = (V; + V)M
Here,V, =V, ~Vi(M; +M;) =2VM=>M=—"=";

M;+Mz _ 20405 _ 4 95M (Ans.)

40. IYRISE I *[F F
(a) SI GFTS MY ¥9F R 9 TiF I
(b) =R & Fifer e A= 2rEg e @ T AT
(c) FDT-ER TOIIW SR NHa, H, 0 Zpifis e R ol oo
(d) AN «F B Prdem arEPre Bees werea =i, 7 B9 L TAST OF JT T F© 7 |
(E)ﬁmcmqmﬂﬂﬂmﬁmﬁm |
FHYI: (a) 8.316]K " mol™ (b)}h='_' (c) srEfas () H=U+PV (g Ni** + 2e = Ni

41. CERART CFER T SIAN@ry Cl, e W%aﬁaﬁNTPﬁsozﬂmm%WWQW

3RT 3RT, 3RT, 3RT- T:a
S: Gy, = |22 -, [3RTL = . Coq = P2 or -
502 Mso, Mso, Mal, » Clg Mci, ‘ Msp, MCI;

Cso, = Cay, o, Tp = ——2 = 22 x 71 = 302.86K = 29.86°C

Mso,

42. 100gm mole CH, 71 ISt 5 Wt TR 0°C IR 760mm Hg BT MR *HITTE SIS TS X7 [JrereT
N, 79% v/v @32 0, 21% v/v SR ]
HAAYE: CH, + 20, = CO, + 2H,0
“ New, = 100 .. Vey, = 22.4x100 = 2240L
ng, = 200 .. Vo, = 22.4x200 = 4480L

ALES N, 79% 30, 21% TR |
-.4480L0, I = =x100 = 21333.33L IS

. ARy STItA S
Ven, + Vair = (2240 + 21333.33)L = 23573.33L

43. fafaRe gadef wiEfes, ﬁﬁﬁﬂﬁﬁﬁmwwwml
(a) CH,COONa (b) ZnCl, (c) KNO;

H,0
AAYIE: (a) CH;COONa — CH;CO0~ + Na*; Na* 4+ OH™ - NaOH; CHz — COO™ + = CH; — COOH

& afirs
-, B4fD I
H-.0 —
(b) ZnCl, — Zn2* + 2Cl~; Zn2* 4+ 20H™ 2 Zn(OH),; 2CI” + 2H* - 2HC .. w34t afifes)
' LeRAE o ufe

H,0
(c) KNO, —— K* +NO3; K*+OH~ - KOH; NO3 +H* - HNO; .. G3¢b fRaors |
Sy Cig «Fe

44. (a)Frmaffe B(5) “mmida IR FETHE TR0 Foag (FRb 43 @7

(i)(‘z@ ®gp)O @@ OO0 QO OO
QO WOO »@® OWO

FAIG: (1) I QU 2s STRRBE = SR 972 ATISICS G QSR RS ST 2p A6 T4 &gl
A I FECR
(b) B corEEe? (i) Mg(12) (i) Sc(14) (i) Si(16)  (iv) Ar(18)
A (iii) Si(16)
45. (a) RicFns TR0y ordte fFeiR A1 ArFEiE 1, T3¢ 88 I |
HAYE: 2Nal + 3H,50,4(con) A 2NaHSO, + 1, + 2H,0 + 50,
(b) AT BT 8 (5 (IOIER T1f& ford |
FAMYIH: T (163 Cu 30%, Ni 67%, (Fe + Mn)S% &= ca%rar Cu 75%, Sn 25%.




] P —— ']
Frruiap AT g A5
BUET SR=ied QY H L ﬁ L

A

46. oS ﬁﬁmﬁf&mwma;ﬂﬁﬁmmﬂl%qﬁw,wwﬁl

FAYI:
Ep = AifeFe i (eduies apifders)
T E, — w4 (eoree SHiifre)
® " - i e
_____ et
S

e R e o i o s wfrm e 297« g3 sftees e oY AfeEs =71
e [ «ifS 3% «im

47. TSN ARSI ARITI7 I 7S |
(i) NH3'8 Cu(ll) T STy HC) B S0 92 U9 A6 21
(i) SSfF& OH~ AT Zn?* HIE Fe?t (aq) (LS 7S T4l
HAAYI: (i) ST T Cu(ll) T &b Qs FeA ATE | QTS HCl I& FA0A {15 e G0 GRriRE T (1)
L= Cu, Cl, 9 JWI YTF TS |
2Cu(NH3), + 8BHCl - C::.IHEHCT.)IE | +8NH{ + 6CI™

(ii) Sfef¥& OH~ AT Zn** (aq) & Fet? Ut 723 Tl

Zn?* 4+ 2NaOH - Zn(OH), !+ 2Na* ; Zn(OH), + 2NaOH — Na%%goz + 2H,0
AT

SUcE, Fe3t + 3NaOH - Fe(q?%g L 4 Na* ; SfSfe OH~ AN Fe(OH); TS ZW 1

48. JYGST 61 I ATSIFI0 A [RANTS o7 It “farey wins
(2) Zn G FEESTELS 41| (b) [CoCl,(NH,),]* @ == et araez|
(c) IR 9 it Y@ A (d) CICI-FIZT GIS! S 8 T et )
(e) “SoFae AT A G T Oy = |
HAYE: (a) T (b)) 77 () Te7 (d) Fwt (e) 7oy

49. (a) firva @M fA 4R stainless steel 5157 FT?

(i) Cu, Zn, Sn (ii) Fe, Cr, Ni (iii)Fe, Cr, Cu (iv) Cu, Pb, Sn [Ans: 1i]
(b) T4 R Aafore A @ AHRTT 4gre Fiee ol W «?
(i) Al; 0,4 (ii) ZnO (iii) CuO (iv) PbO

STty (i) ©fe g Fiffe ¢ v [wea clitea Az 318 [Renae s ifers S 3=t )
(c) SFFoETS (@ AT YfE (ATF ALK @ W A6 M 1 T, S 6,
(i) Gangue (A @ @) (i) Flux (Re1) (iii) Alloy FEFT4Tg  (iv) Ore (WH[EF) [Ans: iv]

50. UEH 7FqT T

(2) ZERATS 1o —— i (w/w) N, SR

(b) IUPAC *[%ets TAABF fFerts e 2 |

(c) BfETTIR — 17 (It 21 @ Gifim ozt )

(d) A ——— 7T A AR A (Smog) 8 w3

(e) Wt fehe M Ao

T () 46.67% (D) ®EA () RERE SR B (d) SO,  (e) ZnSO, . 7H,0




S1.

54.

55.

R Ce R st RN oABRs1

Dry ether

(a) CH;. CH;CI + Na ——— CH; — CH, — CH, — CH; + NaCl
0 0
AlCly I il
= - C —CH
(5) 2{O)— C - 0 - CH, e -+ CH, + HOo - (O)— 3
(¢) CH; — CO — CHy + 4[H] c—“"—; CH, — CH, — CH; + H,0
conc

(d) R — COO — R'()) + NH;(g) = R — CO — NH,(s) + R'OH(1)

STRIY: (a) SO RfFa (b) FroremREwnT (o) Frem Remd (d) SR/ SR
R fizs s © fRrze wifw vz oy «indey Ay Fa0E? TSR AR @3e |
FAH: CHy — NH; + HNO, — CH; — OH + N, T +H,0

(O>—NH, + HNO, —— (O)—N,Cl + H,0 + NaCl

feizs wmfim HNO, @7 e RfFd N, @ e I@ Tdige FiRa WiffE HNO, 93 AN i Sromary
(0- SECJﬁmmmmﬁﬂmmwmmuﬁwﬁﬁwﬁﬂﬂmﬁmﬁﬂmwmmﬁgﬂ
WM 3t Rrnfers zm TGS, SHEize @ Sy Qs 13 T

(a) 5/ FFh WY R f§ w7 [Ans: (1)]
FAMYIN: (i) saponification (FIHER) (ii) esterification (BIRFFEI7)
(ii) fermentation (FICFEN) (iv) Polymerization (#iferia<sa)
(b) THoa TR (D AR, (L CESAl 8 (FH{L CHFHIR, Sf 9% I
CH;

FHI: (i) “\H — oH (i) CH, _C - OH (iii) CH; — CH, — OH

Hac/ | o

R CHy

SR

AR WP (RIS EER) (& [FOIT TRENALZA EHIRE (G- SEPEE) 4@ TR FaE?
YIS (TS |
HBr OH(aq)

AqY=: CH;CH,CH,0H '—su"' CH;CH = CH, [WF"¥® |if§] — CH;CHBrCH, i . CH; — CH CH; + KBr
2
UH

Read the passage and answer the questions that follow:

The great pyramid was built thousands of years ago for a king called Khufu. It is located on the west bank of the Nile
River not far from Cairo. In fact, all pyramids along the Nile are on its west bank. The ancient Egyptians compares
the rising of the sun to the beginning of life and setting of sun to the end life. This is why they buried the dead on the
west bank of the Nile.

In the light of the above passage, put a cross () mark in the appropriate box:
(a) Ancient Egyptians compared death with .......

(1) Rising sun (i1) End of life x(iii) Setting sun (iv) Beginning of life
(b) All pyramids are the bank of the Nile and are .......... Cairo.
(1) close to (ii) far from (1i1) on the left of (iv) behind
(¢) The word "great" in the beginning of the passage refers to the .........
(i) greatness of King Khufu x (11) vastness of the Pyramid
(1if) greatness of the Egyptians (1v) vastness of the city of Cairo
(d) Pyramids were built ............years ago.
(1) a million x(i1) many thousand (111) a few thousand (1v) one thousand
(¢) The deeds were buried on the west bank of the Nile river because the ancient Egyptians believes that.....

(1) they could see the setting sun

(i1) they could see the rising sun

x(i1i) the sun sets in the west, resembles the end of life.
(1v) no one can escape death.
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Translate the following into Eﬁglsh.
() ST 7 w1egt ffs =1
Ans.: Don't shame him further.

(b) SIRFTAT Wiy =1 stz Rryrh

Ans.: People of Bangladesh believe in peaceful co-existence,
(c) SIS SR ASrg 77 IACE 71|
Ans.: Today I cannot concentrate on studies.
(d) U TR Ao =S zTE)
Aus.: Flood has caused huge damage to the crops.
(€) B T T St Wi wieerE e e
Ans.; We would have returned home way earlier if it had not rained.
Choose the answer and put a cross (x) mark in the corresponding box which best explains the meaning of the
underlined word:
() Heis very concerned about inflation in the country.

(1) convinced (ii) irritated (iii) bored x(iv) worried
(b) I gave you the information confidentially, so don't mention it to anyone.

(1) for confidence x(i1) in secret (111) for confidently (iv) for your own use
() Mamun wathced as the men demolished an old building

(1) plastered and painted  (ii) washed x(111) pulled down (iv) demonstrated
(d) She has abandoned her plan to become a lawyer.

(1) lose (ii) vowed (ii1) revived x(iv) Given up
(¢) Mr. Rahamanis a persistent critic of the Government.

(i) economic (i1) convincing x(iii) Continual (iv) irritated

Put a cross (x) mark in the corresponding box with appropriate idiomatic expression that completes the sentence.
(@) Iam afraid that my success as printer was just a.........

(1) bolt from the blue (ii) flash in the pen x(iii) cock and bull story (iv) broad day light
(b) The umpire kept his .......... on the tennis match
(i) right and left (ii) pipe dream x(iii) eagle eye (iv) maiden speech
(¢) Mary and Anu were ............ in the spelling contest
(i) black and blue  (ii)short and sweet x(ii1) neck and neck (iv) 1n good faith.
(d) Ifind that........... people tend to do what they are told to do.
x(i) by and large 11) back to front (iit) out and out (iv) fat and wide
(¢) You may find it difficult to get visa but there are ............. of obtaining one.
(i) odds and ends  (ii) kith and kin (iii) loaves and fishes ~  x(iv) ways and means

Change the following sentence as directed.
(a) Itis time to close the door. (Change into passive voice)
Ans.: It is time for the door to be closed.
(b) Bombay is one of the richest towns in India. (Change into positive degree)
Ans.: Few other towns in India are as rich as Bombay.
(c) Besides being beautiful, she is intelligent. (make it compound)
Ans.: She 1s beautiful and intelligent.
(d) This is the pen which I lost yesterday. (make it simple)
Ans.: I lost this pen yesterday.
(e) They cried at the top of their voice (make it complex)
Ans.: They cried which was at the top of their voice.
Fill in the gaps with appropriate of verbs given in the brackets.
(a) He was working (work) in the garden when I met (meet) him
(b) We invited (invite) Abid to our party, But he decided (decide) not to come.
(c) It happened (happen) while I was living (live) in London last year.
(d) Had he entered (enter) the class before the bell rang (ring)?

(e) Yesterday, some boys made (make) noise in the corridor. They were asked to shut (shut) up.




